ot

TR i y = 2,2 o] TS BPolF Aok, o] Lol

DESSEY

yl\
\ -1 / ,

oL

|

|

|

£1-3
@y=2(x+1)2—3 @ y=2(x-1)2-3
® y=-2(x+1)?2-3 @ y=2(x+1)2+3




O|A}gtaE y = —3x2 + 6x + 1 & HAH L] FEE?

® (1 4) @ (-1,-14)
® (41 @y

B

® (1,-4)

:—3(x2—2x+1—1)+1

olBg ZAH] HEE (1, 4) otk




y=-x%+4x-1 9 11

3.

@ y=-x>-4

@ y=—x?-4x

® y=-x>+8x-4




o
Hr

o|J
0SS
ol

x2-x+1

@ y=-x*+

@ -

1
o2
2x

® y=2x%-x

D y=-

® y=x*-6x+2

o] Hrt.
ot




@7 ® 9 @®)10 ® 12

@D 6

x=02 ujelyo) golm 2

)2 -8=2x(-3)?-8=10

nERKel
2
3

B
T o
S~—
~




OV £ R = ROIA f(x) = 522 = x+1 015k (20) = 20~ 1

A, % 0 9 D (S RS A)

f(2a) =2a-10°|B2
1
§X(2a)2—2a+1=2a—1, 2a°-4a+2=0, a*-2a+1=

0, (a-1)2=0
La=1




@ x7 =715
FS7tdel et x <0 =
,ye o7kt

®)4 (-3, 9)= Avt.




y=ax* o I ZExF0= p WF HYP0|E5HH y = a(x—p)?
olmZ y— g(x_5)2 o], x O Zko] 8 o] B TjeJ5hE y — 12
ojt}, wEtA] k =12 ©|t}.




v, y Fo] Ue s ¢ v Halo]
gy ohe 29 2okt ol ), p
ahe?

® 4 @ 8 ® -4

@—8 ® 12

Yy=ox
O
q

O|HE p=-2, g=-6°|th WA p+g=-8°lch.




OGS y = ~322 - 1 O] THZE( ) o THTE( ) T AL
BAHS (0.-1) °l1L, 9 WAL x = 0 otk ¥ BEE

@ y=3x% y Z°| thot] A ols
® y=-3x2, x Z°| tfoto] thHols




OAHE4: y = —= (x+2)? O ThZe A x gho] Z7Fetel] e} y gk

@ x>0 @ x<2 ® x>2

ZAIHo] (-2,0) 012 Y& B2 T zolrt, x< -2 <L T, x
7k S7kske y & S7HT




D a<0,p<0,¢g<0 @ a<0,p>0,g<0
®a>0,p<0,¢g>0 @ a>0,p>0,¢g>0
@a>0,p<0,q<0

y=a(x-p)?+q o TAZ7} b5 Zofof kR 4> 0, p <
0, g<0




13. o5 &9 I X FolA Al 1 AREHS AuA] b= A2?

@y:3x2 ®y:_2x2+3

@ y=(x-2)? @ y=(x+12+3

@yz—(x+ 1)2-3

®y=-(x+1)2-3=-2*-2x-4 £ JIZ BZT BF| ZE
Aol BAH| FHE (-1, -3) & A 3 AHEE 910 AL, y
AWl (0, —4) O1BZ A 1, 2 ARBE AA =




oz} y = 2x% —12x+ 10 ] I Zof thst of-3 A 5 &

@)y @re 10 otk
@ x>39 1, x9 gol Z715HA y o] ghe FaTt.
@)x #3t whte o) FE7} (1, 0), (5. 0) oIk,

7l

rlo
tlo

y=2(x*-6x+9-9)+10
=2(x-3)*-8

@ x> 39 1. £ o] 37151 yo] g S7Hek

@ %] FHFAHLZ x =3 |t

® ot = B=gt Q= Lot




15. oJA&4y =a(x-p)? +¢ 9 AHZIL 3 S W, a, p, ¢ 9
9

2

o

[T\

®a>0,p>0¢g>0 @ a<0, p<0,g<0

@ a>0,p<0,¢g<0 @a<0,p<0,q>0

® a<0,p>0¢g>0

A= E5TF BFe ZE4ola, H3H Y ArE Al 2 AH2W

9

o JJoeru=Z <0, p<0, g>0 Ot




